AHMOTIKO ZXOAEIO .......coevvniiinniisnnnissennssnnisssnnsssneessennes

Ovopa: Taén:

NOEPEZ TIPAZEIZ AIAIPEZHZ

3) Z1parnyikh: «Zwalw>» 10 diaipeTéo pPe mpdoBeon

’\ 32248

2képTopar: 3 224 -8 =(3200+ 24) -8
= (3200 = 8) + (24 = 8)

=400 + 3

= 403
184+ 2= 140+5+=
204 + 4 = 482 < 4=
330+15= 525 - 25 =
1248 + 4 = 7140+7 =
20560+ 5= 6930+3=

4) X1patnyikn:  «Zwalw» 1o diaIpeTEO UE agaipean

95+5

2képTopar: 95+5=(100-5)=+5
= (100 + B)-(5+5H)

=20-1
= 19

196 = 4= 398 + 2=

294 + 3 = 597 + 3 =

784+ 4= 485+ 5=

564+ 6 = 651 + 7 =

772+ 4= 855+ 9=

192 + 2= 891+ 3=



